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20198 = =3 1 3

M1 X 201989 % A - M= 0iasSH & SAHEZ LA NLE = A= HOH2 UsH 20 (ol M)

-+ =2 Ng - HE0&tEN 2 Al Xt Bt N
g A 422,153,577 12,664,607
& B3 Al 408,351,643 12,250,549
SEE3A 13,801,934 414,058
JIEtSE 3 13,801,934 414,058
S HSEN 559,038 16,771
Xot=2el EL 5 A 1,601,793 48,054
FUHESEIA 8,173,186 245,196
ZIIDIEHEAAHEANEUH XN ELSE A 1,305,315 39,159
MHEBISNSE A 2,162,602 64,878

M2 N -AHz oae BAes €8 "MY - NS ol 20,

-

Mo 3 & eS| Olldldl= 4,733,686 @22 &tCt.

M4 = gt

o

SlH Kgrgaistz= 2,500,008 22
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